LONG WALK TO CRONYISM

1. The objective of the vote of no-
confidence was to...
a) defeat the ANC.
b) get rid of President Zuma.
c) change the constitution.

2. Which sentence is true about
the vote?
a) The opposition was easily
defeated.
b) The result was quite close.
c) There was never any doubt about the outcome.

3. Who does Julius Malema thank in the report?
a) some ANC members of Parliament
b) his supporters
c) the opposition coalition

4.What will the opposition do now?
a) organize more protests
b) use the legal system against President Zuma
c) do both of the above

5. Ayesha Kajee says that the longer Zuma remains in

power, the more it will ... 1.

a) damage the ANC.

b) lead to protests. 5

c) increase his fortune. -
6. What is the significance of the recent vote of no- 3.

confidence?

a) It was the first one. 4.

b) It was a secret ballot.

c) Many ANC members voted against the President. 5.

6.
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